FALL 2000 QUIZ 11 NAME:

DUE: Beginning of class Monday, October 30, 2000.

1) a) (5 P1s.) Let Z be the standard normal random variable. Using the table for Z, find Pr[0 < Z < 1.55].

LOOK OWN TABLE

Answer: Prl0<Z<155=_: 4394

b) (5 PTs.) Let Z be the standard normal random variable. Using the table for Z, find Pr{—1.55 < Z].

Pe[-1.5822]= Pe[-1.555220]+ pLosZ])
| = ?Y\'_os‘zf\.SS]* Pr LO2?]

= ,4394 TS

Answer: Pr[-1.56 < Z]=_- 9394

¢) (5 PTs.) Let Z be the standard normal random variable. Using the table for Z, find Pr[~2 < Z < 1.55].
D252 £185) = Pef-2£7200) + Pv Lo 21557
- s Pefof2%42) « Pfos22185]
= 4772 + 44 - 166

Answer: Pr[-2<7Z 571.55] = K (N

d) (10 PTS.) Let Z be the standard normal random variable. Using the table for Z, find Pr[-2 < Z < —1.55).
Pe(-3¢32¢ ~1ss1 = R[-2¢2% o] - P[-lsSézso]
< P.fot22] - Pclocreist]
- 4772 - 4334 7 0373

Answer: Pr[-2<Z < -1.55] = .0378

SEE OTHER SIDE



e) (10 pTs.) Let X be a normal random variable with standard deviation 3.4 and average 10. Find Pr(8.3 < X].

. X-M _ X-lo
2% s 3.4

: ,3-10 — _Y. ¢
P(33¢%) = P33T £ 2) - R(-Yac2)

= Pr(05%$‘/z\* 'P‘-(Oﬁz)
= a1l - r Y

’ : - . QQ\S

Answer: Pr[83< X]=_" eAlS

f) (15 PTs.) Let X be a normal random variable with standard deviation 3.4 and average 10. Suppose

Cw. Find the value of a.
PeLlo-a ¢X<ipra)=.1102

| _ to+a-1'0 _ g
2= T 1;»‘10 Zetoma =7 &7 3.4 34
[ ad . -
| S z> 92070 -
x= \0-a = =7 i3

- - <
P- (l10-0 <gcioral = B ( %—Z' 52-%?

- 2R (0f2537) T 63

3.4
wOoLW UP
A - ¢ "I = , 04
TARLE =S5 2. e = Q- .06 31\ 3.6
Iw ‘ 3.4
‘R Eve RSE

Answer: a—= 3.60%




